
-Each worm corresponds to a meta answer, fill in each joint with letters starting from the head. 
 
-Cut out and fold the nets. (a good hint is asking if they double printed it or held it up to the light 
to notice the nets and the web-nets are related) 
 
-Find which letter(s) are not “supported” by the other net/web (Which ones the line is not 
connected to.  Hence double-sided printing is helpful, however, they can trace and it’ll work just 
fine). Take those, and note how many letters ​are​ supported. 
 
ST(A)RS → shift A by 4 → E 
DEST(I)NY → shift I by 6 → O 
(T)RIANGLE → shift T by 7 → A 
(C)AULIFLO(W)ERS → shift C and W by 10 → MG 
OU(T)(J)UGGLED → shift T and J by 8 → BR 
 
EOAMGBR → EMBARGO 


